NORTH CAROLINA STATE UNIVERSITY Department of Mathematics

MA141-012 Test #1 Form B Monday, September 24, 2018 Dr. J. Griggs

Put all work and answers in the stamped blue book provided; one problem per page please. (the
back of a sheet can serve as a new page) Nothing written on the test itself wil] be graded.
Calculators may be used (not a graphing calculator nor any calculator that actually does
calculus). Simplify completely. Turn in this test copy inside of your blue book.

(Seven questions; 14 points each; 2 points for following directions)

1) a) For f(x)=;52_ , find f(xj:‘;r(a) and simplify completely.

b.} Putin standard form: identify; find all relevant points (center, ends of axes, foci, axil)

and graph:
x4y —8x+2y+8=0

2.) Sketch the curve represented by the following parametric equations; eliminate the
parameter and find the Cartesian (rectangular) equation:

x=14+3t and y=2-1* —]1<1<3

3.) Use the formal definition of a limit (€....8) to show that lile (Bx+5=11.

4
+) Find the derivative using the DEFINITION OF DERIVATIVE: f(x)= i
5.) Evaluate the following limits:
: i 2x*-10x
I m 1 . ok TAMA %
a) Jim (tan™x) b) lim ¥—dr_5 © liminx
3 ifx<=2
6) Graphthe following: f(X)=1{ 2x+1 f-2<x<0
4-x° if x20
For this function, find: lim_ flx)= lirq S(x)= lim f(x)=
x=0 x50 =0

Is this function continuous at x=-27 (verify; 3 possible steps)

7.) Find the average rate of change of f(x) as x changes fromx=1tox = 4; find the
instantaneous rate of change of f(x) atx = 3: fx)=5x"-6x+2

(use the definition of derivative to find f'(x))
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